DIN0098 X-Ray Oak Extendable Table 180x95

=
Notice de Montage - @ Istruzioni per il Montaggio, Montage - Verwendung -
Utilisation - Entretien I'Uso e la Manutenzione Wartungshandbuch
@ Instrucciones de Montaje, @ Assembly - Use -
Utilizaciéon y Mantenimiento Maintenance Manual

tikamo On | www.tikamoon.com / .de / .co.uk / .it / .es 2024/09-V00



Dowel ®10 x 30

Half moon

SN

@

Hex Nut M8

@

Spring washer

@x4 ®x8

Flat washer

((((
x4 (((((((( (6) x8

i ‘““/h‘"
Headless bolt M8x90 JCBC Bolt M6x25

© x4 ((((((( (H) x4

JCBC Bolt M6x15

(D) x4 % (3) x2

Spanner

(E) x12 (K) x2

Allen key

oM

o

ﬁ NOT INCLUDED
NON FOURNIS
0

tikamoon | www.tikeme

on.com / .de / .co.uk / .it / .es




»
tlkam()()n | www.tikamoon.com / .de / .co.uk / .it / .es



* Tighten the nuts fully

»
tlkamoon | www.tikamoon.com / .de / .co.uk / .it / .es



%‘ i

X
(09}

x
%
5 @
&

@
& &

®

* Tighten the bolts loosely

tikamoon | www.tikamoon.com / .de / .co.uk / .it / .es



A\

BN \.
\\\ >
AN
/ %)
/ N \\
N \.
| A N\
\ PR 7// IR
N , \
// s /
~ ~ I\\\\ \

o.uk / .it / .es

* Tighten the bolts fully

.com/.de/ .c

\,
@ x4
@ X2

t ikamo On | www.tikamoon



Adding the leaves

tikamoon | www.tikamoon.com / .de / .co.uk / .it / .es



W Vi

*Handle the leaves with care to
prevent scratching other surfaces.

Vil

tikamoon | www.tikamoon.com / .de / .co.uk / .it / .es



viii

Removing the leaves

tikamoon | www.tikamoon.com / .de / .co.uk / .it / .es




g *Handle the leaves with care to
prevent scratching other surfaces.

tikamoon | www.tikamoon.com / .de / .co.uk / .it / .es

10




Xii

11

tikamoon | www.tikamoon.com / .de / .co.uk / .it / .es



